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Economic growth
has many faces

/,,,/

Amsterdam /
% employment growth T
[ red
|
Rotterdam
The Hague
20

@

Munich has seen a
sizeable growth in both
labour productivity

In Amsterdam and Utrecht and employment

employment clearly increased,
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Growth in labour productivity
and employment in European

urban regions, 1980-201
Source: Cambridge Econometrics, adaptation by PBL

European urban regions
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was smaller than in many other /
European urban regions P
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London. This city showed
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&# 6 cities differ from one another! Some are vibrant places, others

dormant towns. So, whatever policy objective you may have, be selective, don’t expect too much of the average

city, focus on some strongly performing places.
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Cities: the problem?
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Water is needed to
generateenergy

Water is needed to
» grow food

- Energy is Food
needed to transports
cleanand (virtual) water
transport
water

Energy is needed
to produce food
-

D
ENERGY

Demandtoincrease by 40%
by 2030 (IEA)

°
Food can be used to
produce energy
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Epiloque: proposal to escape the double disadvantage
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